
SAP ABAP table UKMBP_VECTOR_IT {SAP Credit Management: Credit Segment}

UKMBP_VECTOR_IT

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

LOGSYS [CHAR (10)]

CREDIT_SGMNT [CHAR (10)]

DUNN_CURR [CUKY (5)]

OVDUE_CURR [CUKY (5)]

IDX_CURR [CUKY (5)]

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 UKMBP_VECTOR_IT-DUNN_CURR = TCURC-WAERS 

0..N
0..N  UKMBP_VECTOR_IT-IDX_CURR = TCURC-WAERS 

0..N

0..N  UKMBP_VECTOR_IT-OVDUE_CURR = TCURC-WAERS 0..N
0..N

UKMCRED_SGM0C

CLIENT [CLNT (3)]

CREDIT_SGMNT [CHAR (10)]

 UKMBP_VECTOR_IT-CREDIT_SGMNT = UKMCRED_SGM0C-CREDIT_SGMNT 

0..N

0..N


